Vermont Castings, Majestic Products Replacement Parts

0456 /702

Varmont Castings, Majestic Products reserves the right to make changes In daslign, materdals, spediiications, prices and discontinue colors and
products at any tirna, without notice.

Radiance Vent Free Gas Heater (RUVS)
Models 2750, 2751, 2752, 2753, 2756, 2757, 2758, 2759

Discontinued (Gas Stove Products



Vermont Castings, Majestic Froducts Replacement Parts

Radiance Vent Free Gas Heater (RUVS)
Models 2750, 2751, 2752, 2753, 2756, 2757, 2758, 2759 (continued)

Ref. Description RUVS
1. Grille, RVF 1301192
2. Screen, RVF 1601933
3. Top, RVF Refer to Enamel Parts Chart Page 19
4, End,Left - RVF/RDV40 Refer to Enamel Parts Chart Page 19
5. End, Right - RVF Hefer to Enamel Parts Chart Page 19
6. Shroud, Rear Outer - RUV 20000862
7. Cap, Duct - RUV 20000875
8. Bass, Duct - RUV 20000876
9. Heat Shield, RUV 20000877
10.  Collector Box, RUV 20000858
11, Bracket, Right Latch - RUV 20000859
12. Bracket, Left Latch - RUV 20000880
13. Bracket, Back L.og - RUV 20000991
14. Bracket, Right Log - RUV 1409173
15. Bracket, Left Log - RDV/RUV 30000109
16. Latch/Glass Frame #20L01-1-1AA 1601972
17.  Screen, RUVSOD 20004554
18. Swiich Box, R'WDYV 1408791
19.  Switch, ON/OFF - RR'WDV 1601597
20. Plug, Shaker Hole - 3/8" - NI 1600561
21.  Clip, Wire - #3637-Heyco 1208618
22, Wire Tie, Ilgn. Newark #89F530 1201504
23.  Wiring/Thermostat Assembly - RVF 1601913
24. Adapter, Thermo, Wiring - RUV 30000453
25. Gaslog Set RUV 20000853
26. Log, Back RUV 20000856
27. _Log, Right Middle - RUV 20000854
28. Log, Left Middle - RUV 20000855
29. Log, Top - RDV/BNV 30000037
30. Ember, Left - RUV/RDV/RNV 20000880
31. Ember,Right - RUV/RDV/RNV 20000881
32. Lava Rocks Bumer 57897
33. _Bumer Housing Assembly - RUV 30000446
34. Manifold Tube Assembly 20000663
35. COriflce Hood, #51 - Front - NG 30000449
Orifice Hood, #60 - Front - LP 30000518
36. Orifice Hood, #42 - Rear - NG 30000332
Orifice Hood, #54 - Rear - LP 20000130
37. Pilot, ODS w/TP-OP #8204 - NG 1601929
Pilot, ODS w/TP-OP #84004 - LP 1601930
38. _Bracket, Valve - RDV40 20001006
39. Valve, NG Honeywell VSB421-2003 100002356
Valve, LP Honeywell VS8421-2011 10000242

Discontinued Gas Stove Products



Vermont Castings, Majestic Products Replacement Parts

Radiance Vent Free Gas Heater (RUVS)
Models 2750, 2751, 2752, 2753, 2756, 2757, 2758, 2759 (continued)

Ref. Description RUVS
40. Cable, Ignition 20000101
41. Bracket, Pilot - RUV 20000851
42. Tubing, Pilot 3116 - RUV 30000448
43. Firebox, RDV40 N/A
44. Bottom, RDV40 N/A
45.  Panel, Cantrol - RDV40 1409136
46.  Front, RVF/RDV30 Refer to Enamel Parts Chart Page 19
47. Cable, Control Door - RDV/RNV/RVE 1601924
48. _Spring, LID/Door - BBQ/RVFE 1201842
49. _Door, Control - RDV40 Refer to Enamel Parts Chant Page 19
50. Knob, Therm Handle - Maplewood - Blk 1600660

Stub, Control Door - RDV40 1601981
51. Tab, Damper - ENC/INT Il 1601488
52. Pan Hd, PH 1/4-20 x 3/8” - BIk 1200993
53. CS, Hex hd 1/4-20 x 1/2" GR 5-Blk 1201338
54.  Rod, Thd, 2 Ends 1/4-20 x 1%” 1204212
55. Washer, Flat 1/4” Pin 7/8 o.d. 1202470
56. . Nut, Hex 1/4-20 - PIn 1203210
57.  Washer, Ft 1/4 - Bik .266i x .6290 .064+ 1202473
58. . Leveling bolt, Hes Hd 1/4-20 x 1" -Z 1201745
58, SMS, PH Pan Hd #10 x 1/2 - blk 1202058
60. RdHd, Slg-32x2"27 1201243
61. Pan Hd, PH #10-24 x 1/4" -7 1200980
: Catalyst, RUV (not shown) (Comes with RGDCFK) 30000506
Fan Kit (FK26) (not shown) 0002767
Shell Enamel Parts Chart - 2750, 2751 , 2752, 2753, 2756, 2757, 2758, 2759
Color Top LeftEnd | Right End Front Control Door
Classic 1301186 1301234 1301233 1301229 1301220
Red 2321186 2321234 2321233 2321229 2321220
Sand 1321186 1321234 1321233 1321229 1321220 -
Green 2311186 2311234 2311233 2311229 2311220

Discontinued Gas Stove Products






